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6 Ostwaldcolours (o) 1
of maximum (m) C, I
linear colour space Cyg , Y) a-
llumin. EOO, ¥,,=100 Y,=50 !

Name Range X, Y, 2, X, ¥, A A
R, 570_77582.79 7026 5012 0.4074 0.3458 598 489
V) 4947755173 9745 531 03786 0.4022 573 463
G2, 471575 6162 611 56.95 03055 04021 528 526
C, 380_57067.35 79.88 100.020.2724 0.323 489 598 Parameter:

B, 380_494 58.41 52.69 97.05 0.2806 0.2531 463 573 Y & Name
M2,575_471 88.52 69.04 9119 0.3558 0.2775 5280528 i

,575_

W, 380_775 100.0 100.0 1000 0.3333 0.3333 100% lluminant EOO
N, 380775500 500 500 03333 03333 50% Y,,=100 Y,=50

7, 380775180 180 180 03333 0.3333 18%
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